

Math 2471 - Calc 3

Calc 1 Chain Rule

$$y = \sqrt{x^2 + 1}$$

$$u = x^2 + 1 \quad y = u^{1/2}$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{1}{2} u^{-1/2} \cdot 2x = (x^2 + 1)^{-1/2} \cdot x$$

Calc 3 2 Types of chain Rule

$$(1) \quad z = f(x, y) \quad x = g(t), \quad y = h(t)$$

$$\text{Ex } z = x^2 + y^3 \quad x = \sin t, \quad y = t^2 + 1$$

$$z = (\sin t)^2 + (t^2 + 1)^3 \leftarrow f(x, y) \text{ only}$$

$$\frac{dz}{dt} = 2 \sin t \frac{d(\sin t)}{dt} + 3(t^2 + 1)^2 \frac{d(t^2 + 1)}{dt}$$

$$= 2 \sin t \cos t + 3(t^2 + 1)^2 \cdot 2t$$

In general

$$\frac{dz}{dt} = \frac{\partial z}{\partial x} \frac{dx}{dt} + \frac{\partial z}{\partial y} \frac{dy}{dt}$$

$$\text{ex } z = e^{x^2 - y^2} \quad x = \cos t, \quad y = \sin t$$

$$\frac{\partial z}{\partial x} = e^{x^2 - y^2} \cdot 2x \quad \frac{\partial z}{\partial y} = e^{x^2 - y^2} (-2y)$$

$$\frac{dx}{dt} = -\sin t \quad \frac{dy}{dt} = \cos t$$

$$\frac{dz}{dt} = 2x e^{x^2 - y^2} (-\sin t) + e^{x^2 - y^2} (-2y) \cos t$$

$$= -2 \cos t e^{\cos^2 t - \sin^2 t} + e^{\cos^2 t - \sin^2 t} (-2 \sin t) \cos t$$

$$= -4 \sin t \cos t e^{\cos^2 t - \sin^2 t}$$

$$(2) \quad z = f(x, y) \quad x = g(r, s) \quad y = h(r, s)$$

$$\text{ex} \quad z = x^2 + y^2 \quad x = r + 2s \quad y = 2r - s$$

$$z = (r + 2s)^2 + (2r - s)^2 \leftarrow \text{fct } r \text{ \& } s$$

$$\frac{\partial z}{\partial r} = 2(r + 2s) \cdot 1 + 2(2r - s)^2 (2)$$

$$\frac{\partial z}{\partial s} = 2(r + 2s) \cdot 2 + 2(2r - s)^2 (-1)$$

in general

$$\frac{\partial z}{\partial r} = \frac{\partial z}{\partial x} \cdot \frac{\partial x}{\partial r} + \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial r}$$

$$\frac{\partial z}{\partial s} = \frac{\partial z}{\partial x} \cdot \frac{\partial x}{\partial s} + \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial s}$$

generalize

$$\#26 \quad w = \sqrt{x^2 + y^2 + z^2}$$

$$x = st, \quad y = rs, \quad z = rt$$

$$\frac{\partial w}{\partial r} = \frac{\partial w}{\partial x} \frac{\partial x}{\partial r} + \frac{\partial w}{\partial y} \frac{\partial y}{\partial r} + \frac{\partial w}{\partial z} \cdot \frac{\partial z}{\partial r}$$

$$w_x = \frac{1}{2} (x^2 + y^2 + z^2)^{-1/2} (2x) = \frac{x}{\sqrt{x^2 + y^2 + z^2}}$$

$$w_y = \frac{y}{\sqrt{x^2 + y^2 + z^2}}$$

$$w_z = \frac{z}{\sqrt{x^2 + y^2 + z^2}}$$

$$x_r = 0, \quad y_r = s, \quad z_r = t$$

$$w_r = 0 + \frac{sy}{\sqrt{x^2 + y^2 + z^2}} + \frac{tz}{\sqrt{x^2 + y^2 + z^2}}$$

$$w_r = \frac{rs^2 + rt^2}{\sqrt{s^2t^2 + r^2s^2 + z^2t^2}}$$

pg 913 #20

$$z = \ln(2x+y) \quad x = s-t, \quad y = t^2$$

$$\frac{\partial z}{\partial s} = \frac{\partial z}{\partial x} \frac{\partial x}{\partial s} + \frac{\partial z}{\partial y} \frac{\partial y}{\partial s}$$

$$\frac{\partial z}{\partial t} = \frac{\partial z}{\partial x} \frac{\partial x}{\partial t} + \frac{\partial z}{\partial y} \frac{\partial y}{\partial t}$$

$$z_x = \cos(2x+y) \cdot 2, \quad z_y = \cos(2x+y) \cdot 1$$

$$x_s = 1, \quad y_s = 0 \quad x_t = -1, \quad y_t = 2t$$

$$1) \quad \frac{\partial z}{\partial s} = \cos(2x+y) \cdot 2(1) + 0$$

$$= \cos(2(s-t) + t^2) \cdot 2$$

$$2) \quad \frac{\partial z}{\partial t} = \cos(2x+y) \cdot 2(-1) + \cos(2x+y)(1) \cdot 2t$$

$$= \cos(2(s-t) + t^2) \{-2 + 2t\}$$

HW pg. 913 #7, 9, 11, 19, 21, 23